= B i

_LER GUIDE
RAIL RACK






AFNOR CERTIFICATION

N° 2017/73977.1

AFNOR Certification certifies that the management system implemented by:
AFNOR Certification certifie que le systéme de management mis en place par :

KAI HE MACHINERY CO., LTD.

for the following activities:
pour les activités suivantes :

MANUFACTURE OF MECHANICAL PARTS (RACK).

has been assessed and found to meet the requirements of:
a été évalué et jugé conforme aux exigences requises par :

ISO 9001 : 2015

and is developed on the following locations:
et est déployé sur les sites suivants :

NO.117, ZHONGXIAO RD., DALI DIST., TAICHUNG CITY 412, TAIWAN (R.0.C.)

This certificate is valid from (year/month/day) X £ until & =
Ce certificat est valable a compter du (année/mois/jour) 201 7 01 24 Jusqu'au 2020 01 24
cofrac
CERTIFICATION
DE SYSTEMES

el Ce document est signé électroniquement || constitue un original électronique a valeur probat

AcCEmIoN This Gocumant s ictionioahy sorec 1 stancs foran clecioni orghal Weh prebesery vake

poRTEE
DISPONELE SUR
WWCORAC R Franck LEBEUGLE

Managing Director of AFNOR Certification
Directeur Général d’AFNOR Certification

The electronic certificate only, available at ywwyi afnor org, attests in company is certfied. é o, ainor.org, fait faceniicaton  Soan this QR code
forganisme. COFRAC on n°4-0001, . Scope avatiable on www cofrac It "4-0001, ‘Systémes de management,
Portée disponible sur v cofrac.Ir. AFAQ s a registered trademark. AFAQ est une marque déposéo. CERTI F0956.7 —EN 1172014 to check the validity
of the certificate

11 rue Francis de Pressensé - 93571 La Plaine Saint-Denis Cedex - France - T. +33 (0)1 41 62 8000 - F. +33 (0)1 49 17 90 00 a'n 0 r
SAS au capital de 18 187 000 € - 479 076 002 RCS Bobigny - www.afnor.org



Index

V BB ESRGIERESR . ...coooceecnecnncnncnnee $§| ................................................................. 01
V B S G SR T R EBIE ... v oo eeeereerereesesesasnsneesesssssssssssssssssssssssssssssssssssssssssssssssssssssssnsseses 02
V R R R B e I IHI RIS ... evevveeeeeeensensensesesnssnsensessessessesssssasssssssessessesssssssssssssessssssssssseans 03
V B S B R R B EEN IFNTIEE . o eeeeeeeeececceneneeeccenrasasecesas e essasasaesesssasasescssssasasaseassses 04
V BB B R ARIRBIIERD. ... o eeeeeeeecrerrnseseeessasasssssessasasessssssssassssssssssasassssssssssassssssssssasassssens 05
V BB EENZRAETRIL ..o eeeeerecenseresensesensessesesessassssasasessasssstssassssasssssssasessssssssssassssasasses 06
V B S R R R R TERRARIEE ..o eeeeeeeeeeecenresceeeeneesesnsneaenseenesssnsasseassssssnssssnsnsessnssssnsnse 07
L5 BY....oeeeeeeesuesesuesssessssesss s s seses s s s s e AR Re AR AR AR AR e bRt R et e 09
20 BY.....ooeeveeereeessesesaeessases s s s sase s ae b et R A RS AR AR R AR s AR et AR R et e 13
25 BY....ooeereeereeseeses e sssss s s s et AR AR R AR e et R st 17
B5 BU....oeeeeeeesuesesuessseess s s s s e R a s Re eSS R AR AR RS RS Reessb e e R Rt nen 21
[RRILN IR e ceeenreeecennerinnnsestsnsssntsasssntsssssnsasssssssssssssssssstsssssntssssssnsesssssssssnsesssssnsasssssnsessssnse 25



EHREMEERRAIRIRRIE ..o 28

B REHEREEEENIIEIE. ... eeeeeeneereeeeenraseeesesessasaseseessasasessssssssasasssssssasasssssssasasasassees 29
B R B RS R AEBIIELT ......eoveeeeeeeeresereensasesssessssasasssssssssssssssssssssssssssssssssssssssssssssssssssssens 30
= o R 33
A0 BETIEREE .....ceoveeeeeemecneecneennaecnsesenscssacssesnscssassastssascsssssassnsasssstasastssaessstasastnsssssssasassssssassess 35
52 BEBBRAE ....ovuoeveeereeeseesseessaessaesssessasssssssssess s ses st sess s et et Attt Ree R senesens 39
62 BUTERAH ...ttt ss s st s s sss s s s s s nssasanenes 43
T2 BEBHRAE «..oeoeoeenenenenenenenenenensasaeneaeaeasssnenessssnssssssasesessssssssssssssasssssssssssstasssssssssssssssnsssssssssass 47
90 BUBIHRAH -....oeeeeeeeecnreeceneeecsuseeasescsaseensatssasessa e st e sas e sasae s s a et s ast e tetseas s s asaasasatesans 52

e = = 57



LEEN :

S EREHMATRRBIRERREAT , BEESNRERM. MIRENREENEFHER  REBERSERT
REBRHMAVESIES , SRR THRALGSOUE. BMBERERAHERERR , THAEFR=ENRFERER
AREEREFAESIEEEEARNE. BmIEZE.

BaiEMARES MCV iEiFReEi, aURaINTH, BERGIRESHSERINTERER . SERMK 8
ZRTTHANE. . FeAlERs | BESENEERGERER.




SEMM—BELALUER , AIF , ANE(FRERER
= :’ddFﬁ!l"‘..‘\E&1=.nn§%ﬁ¥$ﬁﬂ’]¢ﬁ$ , B—BfR
HEHEERENER , AEFRENOSHNES.
—(EERNES , AEENEREERES—UERT
=R, b, BfIEHRRE S EE B RAYR
BT RAOSERRE , 5TEORE , RPES
RARSNGERERENER. ERRNAFEINSE
MRS EERFTHRAIRT | RIIRMENERSR. 98
MRS —BERRELESEAHEETE.



APPLICATIONS
FERZEH

The seventh axis of the robot

HBEAS M

Truss robot mobile platform

HIsRH=EA




GUIDEWAY SYSTEM
FOR MEDIUM DUTY APPLICATIONS

V BB, & (R



‘ V MEIEERGEIARS
V RIESHEEEERS (ERRRSRE0ENES)

V RIBMSIREE A AEIE VB, VREEHEGKE. RREHE  BRRTSEETNENERS. SREENCER
RENEE BRI BREES  BE(R, BES.

AR#EEE 15, 20, 25, 35 UERLSR , KT ERERRERITE , GIRI8 CP &R, FFEBIIYREIEEX ,
FEEA HRC50-55,

Guideway V bar rack drive system(medium duty)

The guideway V bar rack drive system includes guideway V bar,guideway V bar rack,roller etc.The contact between
the roller and guideway is linear,ensuring high speed,low noise and precise positioning.

Now our standard code include 15,20,25,35 sizes.To avoid cumulative pitch tolerance due to n,we use CP racks.the
guideways are induction hardened to HRC50-55.

HEHNIREM
VELRIG MRS Tubular Steel profile with guideways

Roller for V bar with wiper & lubrication cover

Gearbox

HREAVEREIN
Tubular Alu profile with guideways

IR
Gearbox

ERmME

Felt pinion lubrication_

EEhR

Drive plate

01



_r
__|_
——
B
gaEn

B ZARBEBURISEN, RintIERE T
E’JE@%@ BREIPEE AR EEEELE 50-
55HRC,

R

RERIZIR PN SR AERE , AEESH PSR
KAZHBENEI BEBKER, BENAR
25°, IR LURAHROFMIEROR. EZEEE
B TR E R IR MR R,

V BISMERENRSRE

77
__[0.01]B]

Linear guideway

The accuracy of the guideway system is built
up from the basic quality of the guide,roller and
drive elements.The guiding surfaces of carbon
steel guideways are hardened to 50-55HRC.

Rollers

The rollers are dual-row angular contact ball-
bearings with a 25 degree pressure angle with
RSR seals and sealed for life.The rollers are
manufactured to the PN tolerance class.The
rollers can be supplied with normal or pre-loaded
bearing clearances with concentrica or eccentric
centers.

a5
%ﬁi Ga(um) @ Ga(um) @
15 +6/+23 -3/+5
20 +6/+23 -3/+5
25 +8/+27 -3/+5
35 +11/+33 -3/+5
B AR
@FaEk RS
EEE)TTi4 Drive elements
RFITLRH S @RS ER | LUnE RS Racks are supplied in various sizes to meet the
%'22‘2 EEAEETIAHENERT |, SIREEE required applicaition.For high precision and high
HIFNREILRER, torque applications.the racks are hardened and
ground.
REEEAR
Precision grade i Fp(mm) p(mm)
DIN7h25 0.008 0.05 0/-0.02 G
DIN6h23 0.006 0.03 0/-0.01 TR FNEHIBRIE

02



HiERE

ERLWRIBLATEIR | RERERE
ARG ERRE, BUERTAIC, E ,
EEREE-AESH 10°m(100000km)
I AR A AV S A AN [ e

EZRAZNNEBER T , F2%F
%5 05 B PRIRTEEUR | EEERfYEA.

Size selection

The data allows for a rough selection
of the size of the required guideway
system.The C, value are listed in this
table for a nominal service life of 10°
m(100 000km),and refer to a roller with
pure radial or axial loading.

IN cases of combined loading and
shock,the calculation data on page 5
must be consulted,or a calculation
verification can be requested from the
manufacturer.

V R iGaHEeHMERSS

A Cw(10%m)
l Fr KN
-6
|5
|4
3
2
1
0
15 20 25 35
Ji#s/Size
. A Cw(10°m)
kKN
Fa
L. 20
|15
1.0
05
0
15 20 25 35
1% /Size

03



REShS0iRE
EEEFEIRLAMR | RN EEREE
EEMATHREEE) IR AR,
HFHRASERN EMEE R,

EPHRERNEEEH , BiRE
%8B RIFLURIE#ERE TRE.

LRRETIRE DT 2FEE S > 14,
WAL 2FEEEN Sy > 1.0, RERE
Se~ 1.0..4.0 , HREFRIREEEE,

ZE5| 7] FN ERssinessl Z 5.

Fy

Size selection

After selecting the rack,the gear teeth of
the guideway system must be checked for
compatibility with the required drive forces and
torques.

The rack can be supplied precision cut or
hardened and ground.

The values given are values for shock-free
operation,good lubrication and stiff arrangement
of the pinion.

A safety factor for tooth root stress S;>1.4
and a safety factor for Hertzian stress S;=1.0 is
taken in account.

Depending on your experience and application
a safety factor Sg=1.0...4.0 has to be
considered.

The tracking force FN is related to the number
of teeth Z of the pinion.

04

/

Fy

V BB EENRIGREEN N 03E

20

. i

15

B

ol I

20

Afn
kN
| 10
| 8
| 6
| 4
| 2
— - L0
25 35
it 47} . BB 5
AT,
Nm
L 300
| 250
| 200
| 150
| 100
| 50
| L 0
25 35
[ R



V SIS BBV RREB R

IRBUERD Size verification

BaHBER TYEETERE. RS The calculation must be done for the roller under
S EEEEEZSE , 90% LI S the highest load.The life time values calculated are
EETLLERZEE. FES4 Lh(h) M\ nominal.90% of all rollers reach these values.

g LRIR e BRI IRE ARG T B,

Fa : BE{E=ERIMEREME S (KN ) External axial force per roller(KN)
Fr: BR(ERERIMNEBIEMA (KN ) External radial force per roller(KN)
P: EEFhHE (KN ) Equivalent dynamic load(KN)

Cw : BEIEAES (KN) Effective basic dynamic load rating(KN)

Lh : 2B EERSH (m) Nominal life time(m)

Kr: FASERE (- ) Size factor

f (EREE(-) Load factor
FiE: 1.0..1.2 Uniform shocks: 1.0...1.2
h&Fee : 1.2..15 Moderate shocks:1.2...1.5
B8 :1.5..2.5 Heavy shocks:1.5...2.5

Fs: ERaRa{REN Static loading factor

Cow: EATEFEFREEMI (KN ) Max. admissible static radial force(KN

P=Fr+3-Fa (KN)

Pw=f'P (KN)

L=Kr-%£ -10° (m)

=07 sy f52l
VR Kr FR Kr VR Cw(KN) FR Cw(KN) VR/FR Cow(KN)
15 1.555 15 1.447 15 134 15 131 15 6.8
20 1.882 20 2.262 20 18 20 18 20 9.5
25 2.199 25 2.670 25 27 25 27 25 15
35 3.075 35 3.142 35 42 35 43 35 32

05



VBIENEFHRGERE
RE
B ENRRTRER FRERRRAR AR E R,
VR.A ZFIRRIOERERY. ERUFERRESIT | EROmHE CRE 2 @7, efiRRRERER.
RFRARENTMNE |, ERESEREZAIRER | ERAPRS 0.05mm,
BERREHERGEERASS  FEAETEXRRIE  EEAGRES T RMEMER.
BEIREIRF I A R DR B IR R ITES.

[FRETRR A IR ERHERT  BERD , LARFEEIRR.

< position 0

Assembly

The backlash setting and the pre-tensioning of the rollers takes place via the eccentric hub of the rollers of the series.
If a roller is located in its zero position,the gear teeth backlash will be the standard value of 0.05mm flank clearance.
The service lif of the system will be reduced by excessive tensioning.

With too little tension the rollers will not run,or will wear due to the poor meshing.

By using a face spanner the eccentric of the roller can be turned and preloaded.

A correct preload means that the non-load-carrying roller can still be rotated manually using moderate force.

06



HIRTRENEREE

V BB ES) R R RIRTRE R

Adjustment of preload of rollers

) N

HIRTRSNEREE

1. FRRINE 1 RiRORERAIERERIE S | ASEIRIEEIER

o

2 IZETERATR S A S EERR 1 /0 2, EEIRAIRHESR

B/ME, AROAEESEE0.05mm,  WRTEHRAAS
ENTUMNE  SHhESEREZAEREE , LHARS

0.05mm,

3. IRETEEA M9 Sk Ok 3 71 4, BETEEIRER.

4 EZEFIZER S, ERNERLEX.

>

5. ESRESIRHNER  SRTEER. B, &
FoinER , EHE5S 2 B,

3
=

6. IAIFAR | RRTEASHNET  BERAD , JLURF
BBE). WRAHE  BFERER 34, ERE 3L

BU5R RS KEHE

Code Bolt size MA
15 M8x35 24Nm
20 M10*50 48Nm
25 M12*60 83Nm
35 M16*80 200Nm

Adjustment of preload of rollers

1.Loosen the fixing screws S,with the eccentric hub in
Position I,push the drive carriage onto the beam.

2.Turn the eccentric hubs of rollers I and 2 evenly
in the direction of the arrow until the tooth flank
clearnaceis at a minimum.With the eccentric set at the
minimum distance in the vertical direction,the backlash
measured is 0.05mm.The service lif of the system will
be reduced by excessive tensioning.

3.Turn eccentric of roller 3 and 4 evenly in the
direction of arrow and the rollers will become slightly
pre-tensioned.By using a face spanner the eccentric of
the roller can be turned and preloaded.

4.Tighten fixing screw S:see above table for
tightenting torques.

5.Check the backlash of the pinion to the rack.The
pinion must not bind.Otherwise,loosen the roller and
repeat point 2.

6.Check the pre-tensioning:Rollers that are not under
load must be able to turn using moderate force.If not
free loosen rollers 3 and 4 and repeat point 3.

07



ROZEER KEP FE/UiRER VR..B BEMERATLABRE R R VR..A FIHRIIEE,

ERLEAT BT IR EmER R R DR RS < HREE | ERTLURREEAS.
BiEEER AR KEP RUSER LA RROER S0 EE%E , {MEZREENER.

RO REGERRS | WJLAERE VR HEEEERRI TR,

ROZEER KEP AR OLREER KSP BAERSFINIRT. RTER Imm fMROEEBESETR  FERIRERLE
WIENNT 12 {ERRFL , MAMERREVCIERTBRERINT 4 {ERDAT.

ShEedE 30 B |, 4 AR EE T —EREME.

position 0 g5 position +1 : -position -1
o

—~ o e

- - - o

Eccentric mounting flanges KEP together with centric rollers VR..B fulfil the same function as eccentric rollers VR..A.If
a roller is located in its zero position,the gear teeth backlash will be the standard value of 0.05mm flank clearance.

The backlash is adjusted by turning the mounting flange KEP.The eccentric positioned roler therefore moves radially
towards the rail and the roller becomes adjusted.

The backlash is adjusted by turning the mounting flange KEP.The eccentric positioned roler therefore moves radially
towards the rail and the roller becomes adjusted.

To do the adjustment of the eccentric mounting flanges KEP the same tools as for the adjustment of the eccentric
rollers VR..A can be used.

Eccentric mounting flanges KEP have the same dimensions as centric mounting flanges KSP.In order to be able to use
the full range of +1mm of the eccentric there have to be drilled 12 threads in the carriage instead of 4 on the centric
mounting flanges.

After a rotation of 30° the 4 screws have to be moved to the next pattern.

é B I N g gé Code| D | D1 | D2 | T M
KEPLS| 49 | 36 | 26 | 95 | 5

0 KEP20| 58 | 42 | 30 | 11 | 6

Kep2s| 72 | 52 | 38 | 135 | 8

; Kep3s| 98 | 75 | 59 | 17 | 10

08



15 ﬂvwlu %%-s ﬂﬂi%% | S~
Size 15 roller for guideway V bars,Mounting 7
flange, Wiper&lubrication unit Il
%__ I
i
y T\
|
sy
V Elygeiy Roller for guideway V bars 35
18.5 L2 _12_ 12
45° ‘
== v S,
22.6x3
| —— N £ |
v o o
2 L 4ed® &
213.5 & &
SR (;ék i
9
f;‘fac
BUER fROE 1P Ga Cow Cw® Cw® Nmax IZHERIER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR15A Imm -3/+45 6100 6500 | 1400 9000 |M8*35 8.8 4Kk
VR15B 0 -3/+5 6100 6500 | 1400 9000 |M8*35 8.8 4Kk
5 Mounting flange 04
14.5¢0.0
L1
g ,:E O o
o b +—-—F -+ 9 <
2 =
8 & | 125 S =
e
il =8 IRIEEISE 25.8 S
Code | Weight(kg) Bolt size
KSP15 0.15 M5*16 8.8 4% 57
EiEE Wiper&lubrication unit
81
26.5
71
12
\ 45 }
i |
‘ | &
| 2 | —~
B i | S .ﬁ
: | 9
BUER B= 12T !
Code | Weight(kg) Bolt size |
KSA15 0.1 M4*18 8.8 4% 'DJ | I'D-




15 8 V I8, 5%, &5

Size 15 roller for guideway V bars,guideway

V bar rack,pinion L
U
0 <t
\ N
12
[ 11925
V R Guideway V bar A‘5T° 15 £
o \
) imZZn= TR : .
ﬁmj ®811= N ©
5.8 e 100 ‘
14.5
il L E p ) IRFRRIER
Code Material Bolt size
SV1506 630 600 S45C M8+*16 8.8 4%
SV1510 1030 1000 S45C M8+*16 8.8 4%
V B 4% Guideway V bar rack P L
E

&

A% ) E e | s RBEER R
Code Module Pitch | Precision grade Material
SVGH150606 630 600 1.5915 5.0 DING S45C
SVGH151006 1030 1000 1.5915 5.0 DIN6 S45C
SVFH150609 630 600 1.5915 5.0 DIN9 S45C
SVFH151009 1030 1000 1.5915 5.0 DIN9 S45C
iR Drive pinion o
111.5,
| B i ik
W :
BIER [ =E it KEEEAR RABEENN
Code Z Module P Fig. Precison grade | Max drive force
SGLP15 20 1.5915 5.0 1 DIN6 3KN
SGSP15 20 1.5915 5.0 2 DIN6 4KN

10

@35

22.9

©31.831

|||||

@25




15 BISEiREs, AR, HiBE
Size 15 roller for plain roller,Mounting flange,
Wiper&lubrication unit

FEimin Plain roller

|
T

215h7

©23.8

@47

ol X Rsoo
Bugk fROE WP Ga Cow Cw® Cw® Nmax 1ZfeRIEE
Code Excenter (pm) (N) (N) (N) (min™) Bolt size
FR15A Imm -3/+5 6100 6500 1400 9000 |M8*35 8.8 4Kk
FR15B 0 -3/+5 6800 7200 1560 9000 |M8*35 8.8 4Kk
| Mounting flange 24
14.5¢0.02
L1
g ,:E O o
o b +—-—F-+2 3 &
< =
8 & | 125 8 =
e
BigE =8 Ly it @5.8 S
Code | Weight(kg) Bolt size
KSP15 0.15 M5*16 8.8 4% 5.7
HEE Wiper&lubrication unit
75
26.5
65
12
45

275

Bug B= 12T
Code | Weight(kg) Bolt size

KSB15 0.1 M4+*18 8.8 4k

11



15 BIspiEa, 5%, S
Size 15 guideway flat rail, guideway flat rail

rack,pinion _
& R
N N S
L F1 7
2 o | =2
7] 19.25 p @
EiEE, Guideway flat rail L
E
/7 7 T T
\ / \
v — | ,/’/ |
40 0 | o
——2lort 7| |
6.8 0.5x45°
125 15 100
HigE ] e | omw g sy
Code Material Bolt size
ST1506 630 600 S45C M6*16 8.8 4R
ST1510 1030 1000 S45C M6*16 8.8 4R
B 5 Guideway flat rail rack L
E
o o if 5
38 TS ot © (O S
SN A AANNNAANANANAAANNANANNNNANL
A\WAAW A AW A WA WA WA WA VAAVAAVAAVAL VAV AV VA AV AV A VAV VAV,
6.8 0.5x45°
a5 T 15 100
R58 ] : | wEE | mEEs kL
Code Module Pitch | Precision grade [ Material
STGH150606 630 600 1.5915 5.0 DIN6 S45C
STGH151006 1030 1000 1.5915 5.0 DING S45C
STFH150609 630 600 1.5915 5.0 DIN9 S45C
STFH151009 1030 1000 1.5915 5.0 DIN9 S45C
ENE Drive pinion 90 23
1115, 14.5
ol 3 = ol 3 o
g1 gl gl it
& & wTonrTr
M . 19 .
“I“"i K1 Fig.1 T 2 Fig.2
BUER EE 1 )22 TEEER BRSNS
Code z Module P Fig. Precison grade | Max drive force
SGLP15 20 1.5915 5.0 1 DING6 3KN
SGSP15 20 1.5915 5.0 2 DING6 4KN

12



20 BV &, AR, GBS

| ¢ S~
Size 20 roller for guideway V bars,Mounting U
flange,Wiper&lubrication unit ]
|I__ N
i
1%
|
niy
V iR Roller for guideway V bars 46
225 3,.16_ 15

| ]
22.6x3 V@-ﬁ

263
I
T
@20h7
@27.7

&
1
_;500

BUER RO 2P Ga Cow Cw® Cw® | Nmax IZHERIER

Code Excenter (pum) (N) (N) (N) (min™) Bolt size

VR20A Imm -3/+5 8600 9000 | 2000 7000 M10+*50 8.8 &4k

VR20B 0 -3/+5 8600 9000 | 2000 7000 M10+*50 8.8 &k

i5E Mounting flange 29
18+0.02
7
[%e) N~
8 8 16 S
~ pa
S-H-
A58 =B igteRIY BIRE
Code | Weight(kg) Bolt size
KSP20 0.25 M6+%16 8.8 4k 6.8
HEE Wiper&lubrication unit
96
34,5
84
12
|.1.55

35.5

ﬂ» I 8 — .@
mg | EE g \:J
iyt

Code | Weight(kg) Bolt size ;
\
KSA20 0.1 M5*20 8.8 4% 'DJ




20 B v BUSHE, P50, B
Size 20 roller for guideway V bars,guideway
V bar rack,pinion

&\ || L . i
e — ©
 Scl . )
[ 24 3 | &
25.75 p= 77
2.5
V g, Guideway V bar L
5 15°
Py — 1T
1 |
g I F4ghe LA é N ‘
U Sg o [\ © Al |
9 05ka5 100 ‘
19.5
R ) e | wm iR
Code Material Bolt size
SV2006 630 600 S45C M8*20 8.8 4%
SV2010 1030 1000 S45C M8*20 8.8 4}
V R 155 Guideway V bar rack L
5“
E

29.5

R ] : | wE | mEEm ffm
Code Module Pitch | Precision grade | Material
SVGH200606 630 600 1.5915 5.0 DIN6 S45C
SVGH201006 1030 1000 1.5915 5.0 DIN6 S45C
SVFH200609 630 600 1.5915 5.0 DIN9 S45C
SVFH201009 1030 1000 1.5915 5.0 DIN9 S45C
[l Drive pinion %0
1145,
g8+ ——AIEE
e S
i ’
BISR [ =& [ KSR RABEENS
Code z Module P Fig. Precison grade | Max drive force
SGLP20 20 1.5915 5.0 1 DIN6 4KN
SGSP20 20 1.5915 5.0 2 DIN6 4KN

14

@35

231.831

@10H7

@25

T 2 Fig.2




20 BiEindy, EM. 382
Size 20 roller for plain roller,Mounting flange,
Wiper&lubrication unit

Eintn Plain roller 46

@2.6x3 //
\ £z =~
g ‘77"’6 QN
216.5 105 Q
~N L14AI -
11] ! \ R500
pitl ROE i Ga Cow Cw® | Cw® | Nmax IR RIEE
Code Excenter (pm) (N) (N) (N) | (min-Y) Bolt size
FR20A Imm -3/+5 8600 9000 2000 7000 |M10*50 8.8 4k
FR20B 0 -3/+5 9500 10200 | 2200 7000 |M10*50 8.8 4%
N Mounting flange 20
18+0.02
Z_L
[%e) N~
8 8 16 8
li,
S 18
AlgE =8 iZkeRIEE H (S
Code | Weight(kg) Bolt size
KSP20 0.25 M6+*16 8.8 4k 16.8]
HEE Wiper&lubrication unit
102
345
91
12
55

40

Code | Weight(kg) Bolt size

% o) —— 8
|
\

KSB20 0.1 M5*20 8.8 4k

15



20 BIEEH, @i, S

Size 20 guideway flat rail,guideway flat rail

rack,pinion _
)|
o @
BN N e
‘ 2.5 § zé K,,,
25.75 o =2
SEiEE), Guideway flat rail L
E
V77 T T
\ / \
vl ol | fm ’,/’,/ |
EEi=i o o e
= 129 = i - |
9 0.5%45°
195 15 100
B8R L E A%t IZFETIER
Code Material Bolt size
ST2006 630 600 S45C M8*20 8.8 4k
ST2010 1030 1000 S45C M8*20 8.8 &%
i 555 Guideway flat rail rack L
E
0 g AR //’// P
40 O | OF
| ‘_774_,/'\\_’ uf\uf\uf\uf\uf\uf\uf\uf\uf\ Jf\uf\uf\uf\r f\u/'\uf\uf\ul'\u/'\u/'\u/"
9 0.5x45°
195 15 100
e . ] ey | EE | mESE e
Code Module Pitch | Precision grade | Material
STGH200606 630 600 1.5915 5.0 DING6 S45C
STGH201006 1030 1000 1.5915 5.0 DING6 S45C
STFH200609 630 600 1.5915 5.0 DIN9 S45C
STFH201009 1030 1000 1.5915 5.0 DIN9 S45C
g Drive pinion 90 23
114.5, 14.5
g I —— < EE gl s
o 8 S @10H7
y E, B ] 19 |
“Il"li K1 Fig.1 I 2 Fig.2
adlz EE) 2 Bl BEER EABEENH
Code z Module P Fig. Precison grade | Max drive force
SGLP20 20 1.5915 5.0 1 DIN6 4KN
SGSP20 20 1.5915 5.0 2 DIN6 4KN

16




25 BV B\, LES. iEiBE

| " S~
Size 25 roller for guideway V bars,Mounting W7
flange, Wiper&lubrication unit ]
%__ 1
|
y T\
|
Sy
60
Gidb) i
V BjEG Roller for guideway V bars 35 205 20
U i
. I Bl 2 o
S @20.5 ‘ & 8
] Iy /\AI -
R
13
y
BUSR 2 1R Ga Cow Cw® Cw® Nmax 1RHeRISR
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR25A Imm -3/+5 13500 14700 3200 5600 M12*60 8.8 #%
VR25B 0 -3/+5 13500 14700 3200 5600 M12*60 8.8 #%
AR Mounting flange 34
20.5+0.02

© N~
8 8 21 = S

29
|
T
[
a15

BUEE i 2RISR
Code | Weight(kg) Bolt size
KSP25 0.5 M8+*20 8.8 &k 19|
HEE Wiper&lubrication unit

. 65

43

a0 B
RIS - LE Lk et \:/
o

|
Code | Weight(kg) Bolt size ;

\
KSA25 0.1 M6*25 8.8 4% 'DJ




25 BV BIBH, iR Sk
Size 25 roller for guideway V bars,guideway
V bar rack,pinion

Guideway V bar

64

32.85

A‘a"T

15°

100

\
I
14.5 I
9 0.5x45
24.7
RIS L E oy IZFRRIER
Code Material Bolt size
SV2506 630 600 S45C M8+*25 8.8 4k
SV2509 930 900 S45C M8+*25 8.8 4k
SV2510 1230 1200 S45C M8+*25 8.8 4k
V BT 5% Guideway V bar rack

L3

g

RigE ] E e | HEE | mESR 2L
Code Module Pitch | Precision grade Material
SVGH250606 630 600 2.3873 7.5 DIN6 S45C
SVGH250906 930 900 2.3873 7.5 DIN6 S45C
SVGH251006 1230 1200 2.3873 7.5 DIN6 S45C
SVFH250609 630 600 2.3873 7.5 DIN9 S45C
SVFH250909 930 900 2.3873 7.5 DIN9 S45C
SVGF251009 1230 1200 2.3873 7.5 DIN9 S45C
B8R Drive pinion 108
119.5,
o € 2
§ L —— <L
- 8 Q _444 M1or
S = 22
["""i [€1 Fig.1
BiER [ =& i) KEEER BABEES
Code yA Module P Fig. Precison grade | Max drive force
SGLP25 20 2.3873 7.5 1 DIN6 3KN
SGSP25 20 2.3873 7.5 2 DIN6 4KN

18

252.5

D47.746

@40

D15H7T

1
T M2 Fig.2



25 B Ren, AR, i0igE

Size 25 roller for plain roller,Mounting flange,
Wiper&lubrication unit
Firtm Plain roller o
20.5]1_20
|
/. =
SO s 1
S 2205 DR
SENE
1301 N\___R500
il ROE B#P Ga Cow Cw® Cw® | Nmax IRARRIEE
Code Excenter (pm) (N) (N) (N) (min™) Bolt size
FR25A 1Imm -3/+5 13500 | 14700 3200 5600 |M12*60 8.8 4%
FR25B 0 -3/+5 15000 | 16300 3530 5600 |M12*60 8.8 4%
N Mounting flange 34
20.50.02
4
R — -
N
8 8 21 = S
RgE = iReREE gt 12
Code | Weight(kg) Bolt size
KSP25 0.5 M8*20 8.8 4%
19,
HEE Wiper&lubrication unit
120
44
107
15
6.5

47

| # I N e 5 5
[ce]
BuEE b=y IR TISE ‘ 1
Code | Weight(kg) Bolt size ‘
KSB25 0.1 M6*25 8.8 4% } =

19



25 BIEEH, &, S

Size 25 guideway flat rail,guideway flat rail

rack,pinion __
0
2 / 5
[ 2 SINRIZ
32.85 N 270
g, Guideway flat rail Ié
i T / T
| |
/1
3 o o | ©
o < —4—F-— () ! |
S Lty 9D & |
A9 0.5x45°
247 15 100
BUER L E 78 el
Code Material Bolt size
ST2506 630 600 S45C M8+*25 8.8 4}
ST2509 930 900 S45C M8*25 8.8 4%
ST2510 1230 1200 S45C M8*25 8.8 4%
L
B % Guideway flat rail rack -
i/ 5
o w By d
L 3 A AL A A A AAAAAL AL
TN A A A" A
9 0.5%45°
547 15 100
BUER L E HEE e TEEER 7
Code Module Pitch | Precision grade | Material
STGH250606 630 600 2.3873 7.5 DIN6 S45C
STGH250906 930 900 2.3873 7.5 DIN6 S45C
STGH251006 1230 1200 2.3873 7.5 DIN6 S45C
STFH250609 630 600 2.3873 7.5 DIN9 S45C
STFH250909 930 900 2.3873 7.5 DIN9 S45C
STGF251009 1230 1200 2.3873 7.5 DIN9 S45C
L Drive pinion 108 30
= [re) < @ L $ o
s T Tg 85— T8
- ) 3 72 MO Q Q 2 D15H7T s
A e 22
l’"“”i 1 Fig.1 ——F  p2Fig2
RZE Code EE) L =il BEER EABEENH
== z Module P Fig. Precison grade | Max drive force
SGLP25 20 2.3873 7.5 1 DIN6 3KN
SGSP25 20 2.3873 7.5 2 DIN6 4KN

20




35 ﬂvwlu %%-s ﬂﬂi%% | S~
Size 35 roller for guideway V bars,Mounting 7
flange, Wiper&lubrication unit Il
%__ I
i
y T\
|
sy
) ) 84
V B R Roller for guideway V bars 42 75 | 30 25
45° \ 1
@4.1x4.5 \/%—
~ 1 /L T o
s TH s
Q| @285 17 &y Q
<y T (’é -
ﬁ@
7.
&
SR mOE BB Ga Cow Cy® Cw® Nmax IZHETIER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR35A 1Imm -3/+5 28800 25600 5500 3600 M16*80 8.8 4%
VR35B 0 -3/+5 28800 25600 5500 3600 M16*80 8.8 4%
5 Mounting flange 39
22+0.02
1
© N~
Q 8 26 S
I =
g =8 1BIR ISR J[m g
Code | Weight(kg) Bolt size
KSP35 11 M10*25 8.8 &k 11
EiEE Wiper&lubrication unit

. 6.5

58

s I
mg || =R [ — E’
iyl

Code | Weight(kg) Bolt size ;
0 \
KSA35 0.1 M6+*25 8.8 &k




351"’&%#1" E{%‘ Eiﬁ —_ —M
Size 35 roller for guideway V bars,guideway
V bar rack,pinion -HtH-H P -t
EH e
l . S
A
147.3]
V B Guideway V bar L
, {g 11 T
@ ! ~ | ! "
¢ StL 1% S H© ©
11 0.5x45° ‘ 100
34.6
g ) e | Hw IR
Code Material Bolt size
SV3506 630 600 S45C M10*35 8.8 4%
SV3509 930 900 S45C M10*35 8.8 4k
SV3510 1230 1200 S45C M10*35 8.8 4k

V B 5% Guideway V bar rack L
A

g

46.6
D18
L
t
|

HigE ] E mE | HE | mESR Ze

Code Module Pitch | Precision grade Material
SVGH350606 630 600 3.1831 10 DIN6 S45C
SVGH350906 930 900 3.1831 10 DIN6 S45C
SVGH351006 1230 1200 3.1831 10 DIN6 S45C
SVFH350609 630 600 3.1831 10 DIN9 S45C
SVFH350909 930 900 3.1831 10 DIN9 S45C
SVFH351009 1230 1200 3.1831 10 DIN9 S45C
ERER Drive pinion 162 43

1205, 29.5
R s |21 I =S
- : & @ XTorT

1 _ 28  —
“'Il“li F41 Fig.1 T 2 Fig.2

BIgR [ =E it KEEEAR BABEENS

Code Z Module P Fig. Precison grade | Max drive force

SGLP35 20 3.1831 10.0 1 DIN6 18.5KN

SGSP35 20 3.1831 10.0 2 DIN6 18.5KN

22



35 BIERm, AR, S

S~
Size 35 roller for plain roller,Mounting flange, .
Wiper&Iubrication unit |
;_ I
|
m
L‘\_/
FEimin Plain roller 84
42 30_|_ 25

24.1x4.5

@100
256.9

/I [
1 ’g ;

<

228.5] A 217 &

%

.
LM
L]

B
jon
F
a
o
o

BIER fROE S Ga Cow Cw® Cw® | Nmax HEHERISR
Code Excenter (pm) (N) (N) (N) (min™) Bolt size
FR35A 1mm -3/+5 28800 | 25600 | 5500 3600 |M16*80 8.8 4%
FR35B 0 -3/+5 32000 | 28400 | 6150 3600 |M16*80 8.8 4%
bR ] Mounting flange 39
22+0.02

|

\
M16
a75
298

@59h6
@40H7
|
\

gﬂ

|
1T
18

sl Ea= IRHERISR
Code | Weight(kg) Bolt size
KSP35 11 M10*25 8.8 &% 11
HEE Wiper&lubrication unit

KSB35 0.1 M6*25 8.8 4k

63.5
122
15
| 6.5 }
! |
| || | ~
I nin | DR M
| =
758 B igiRREE |
Code | Weight(kg) Bolt size ‘ ‘
|
\

23



35 BIEiEH, &%, &

Size 35 guideway flat rail, guideway flat rail

rack,pinion _
< )|
[(e] d
N > N &
[ 2,0 ]
] poe 2_44’*”
147.3) <
SEiEE, Guideway flat rail L
E
V77 T T
\ / \
© o LR /! |
S & T L—I 4w & D) /1 |
11 0.5%45°
316 15 100
BUER L E M IRFRRYER
Code Material Bolt size
ST3506 630 600 S45C M10+*35 8.8 4%
ST3509 930 900 S45C M10*35 8.8 &%
ST3510 1230 1200 S45C M10*35 8.8 &%
L
ST Guideway flat rail rack £
9l w /,// <
L 40 O | O
91— A AAAAAAAAAAAAAAAAAAAA AL
IR A" AR
11 0.5%45°
e 15 100
RI58 ] E mey | @5 | mESE )
Code Module Pitch | Precision grade | Material
STGH350606 630 600 3.1831 10.0 DIN6 S45C
STGH350906 930 900 3.1831 10.0 DIN6 S45C
STGH351006 1230 1200 3.1831 10.0 DIN6 S45C
STFH350609 630 600 3.1831 10.0 DIN9 S45C
STFH350909 930 900 3.1831 10.0 DIN9 S45C
STFH351009 1230 1200 3.1831 10.0 DIN9 S45C
L Drive pinion 162 43
1295, 295
! s% S § - 7%7mt g S g  EE—— §
e 28
“Il“li 41 Fig.1 b 2 Fig.2
e B ) (] 3 rEEER =AREE)D
7Y S ; ?
E5% Code Z Module P Ak Precison grade | Max drive force
SGLP35 20 3.1831 10.0 1 DIN6 18.5KN
SGSP35 20 3.1831 10.0 2 DING6 18.5KN

24



R

fRiERE Eccentric mounting flange

T1
@ D4
of E
§ é Mt — ol — . = 8
T

o)

[m] 1

Q

T2
B1+0.02
B
un
BIER B B1 D D1 D2® D3 D4 D5 M@ R T T1 T2

Code

KEP15 | 24.0 145 49.0 26.0 15.0 5.3 2.6 36.0 8.0 6.5 125 3.0 6.3

KEP20 | 29.0 18.0 58.0 30.0 20.0 6.4 2.6 42.0 10.0 7.5 16.0 3.0 7.9

KEP25 | 34.0 20.5 720 38.0 250 8.4 41 52.0 12.0 9.0 210 4.5 9.9

KEP35 | 39.0 220 98.0 59.0 40.0 10.5 41 75.0 16.0 120 26.0 4.5 123

~ i -

I = So

N -t - & 3

8 8 =

—-—

BIER
Code D D1 D2 T M
KEP15 49 36 26 9.5 5
KEP20 58 42 30 11 6
KEP25 72 52 38 135 8
KEP35 98 75 59 17 10

25



GUIDEWAY SYSTEM
FOR HEAVY DUTY APPLICATIONS

BB & iNiRE

26



EHRENEERFIRRRR
EHRENEGEIRR

EHRENEFESFROEREH. RENER RESHG  BRRESEERA. AT RREEMEMEA
A AR A S LN EREER.

REMRITAERGR40,52,62,72,90 AiERYR BT EGEBEEROTE  BIRIER CP &R, FTEEHEIIREREFN
fEE A HRC50-55,

Guideway systems for heavy duty applications

Guideway systems for heavy duty applications includes guideway flat rail,guideway flat rail rack,rollers support,etc.It
can be used for truss robot mobile platform,as well as the seventh axis of the robot.

Our standard code includes 40,52,72,90 sizes.To avoid cumulative pitch tolerance due to n,we use CP racks.the
guideways are inductioned hardened to HRC50-55.

SEEREE
Grease pump

Drive phate

i)
Roller unit

TR
Tubular alu profile with guideways

R

Roller unit

JERERR
Grease pump

BLRR

Dispenser

Gearbox

BB E AR
Tubular steel profile with guideways

BENR
Drive plate

27



RSz

EETLARIBLUA TSR , AGFrENER RSN
ABHERE, X 1$5HTEERS® 10°m(1000
NB) BETRBIERHRN. RMRIEXPBE
T Co, M1 C,(10°m) BB, K2 BAHHEZENR
1600Nmm ™ BSHERTAT .

TEZAZOMEBIBRT . F2% 30 BHrIEt
B8R | SERBAfYEA.

H TR FRER AR ORITRR L.

_— HEREEMAES L TRABSTHEQSHETHEALUT

KGB40:7KN KGB52:12KN KGB62:13KN

KGB72:17KN KGB90:33KN

Size selection

This data allows for a rough selection of the
size of the required guideway system.The
Cw value are listed in table 1 for a nominal
service life of 10°m(1000km),and refer to a
roller with radial loading.In the dimensional
tables for the rollers,the values for Cg, and Cw

(10%m) are also given.Table 2 indicates the
load values for an admissible Hertzian stress
of 1600 Nmm™,

In case of combined loading and shock,the
calculation data on page 30 must be
consulted,or a calculation verification can
be requested from the manufacturer.The
main loads are to be taken by track rollers
without eccentric hub.In case of suspended
arrangement the maximum admissible radial
load has to be reduced to the following values.

KGB40:7KN KGB52:12KN KGB62:13KN

KGB72:17KN KGB90:33KN

28

EHRENSEERARISRE

Size selection

Cy (10°m)
Fr=Fa
KN

50

40

30

20

40 52 62 72 90
#1/Tablel 5% /Code
p
KN
40
30
20
10
0
40 52 62 72 90
#2/Table2 AIBE /Code



REShS0iRE

ﬁé%ﬁ%ﬁﬁuﬁ,%@ﬁééﬁﬁﬁ%ﬁﬂﬁ%ﬁ@bﬂﬂﬁ

- LLERRS HAYSIR RB AN ERE). s RFMER=ILE

WEREREDREEHES: > 14, HzkBN L2 HEEE

Sy 2 1.0.

REFEH S ~ 1.0.4.0 , HAFRIBEHHERN. E5|7FN &
EREREREl Z Bk,

Size selection

After selecting the rack,the gear teeth of the guideway system
must be checked for compatibility with the required drive forces
and torques.

The rack can be supplied precision cut or hardened and ground.

The values given are values for shock-free operation,good
lubrication and stiff arrangement of the pinion.

A safety factor for tooth root stress S;>1.4 and a safety factor
for Hertzian stress S,,>1.0 is taken in account.

Depending on your experience and application a safety factor
Sg=1.0...4.0 has to be considered.

The tracking force FN is related to the nhumber of teeth Z of the
pinion

EH RSN EFEESNRIE

Selection of drive forces

FN
Kli/ A kN
25
20
15
10
5
L | 0
40 52 62 72 90
5% /Code
Fig.1 Bl rio2
TN
T A Ky
1400
1200
1000
800
600
200
L | 0
40 52 62 72 90
. 5% /Code
Fig.1 B rig2

29



REIFERD

BaHER TYRETRE. ERSME
BEREBERE , 90% LA LAYRmES T LIE
FZBUE. EREG Lh(h) NESEETLURER
ERE AR FIIERERETE.

Fr: 4MEB&MA (KN)
P: EE&EM (KN )
Cw: BRHIEABIEEKFE
L: B85 E S

Kr: REE]
f: ETTREL

199EE

hEHE

BAEHE
fs: ERERTEREY

Couw: RABEFEFREEAN

External radical force per roller(KN )

Equivalent dynamic load(KN)

Effective basic dynamic load rating(KN)

Nominal life time(m)
Size factor

Load factor

Uniform shocks:1.0...1.2
Moderate shocks:1.2...1.5
Heavy shocks:1.5...2.5

Static loading factor

Max.admissible static radial force(KN)

P=Fr (KN)
Pw=f'P (KN)
L=Kr~(g—"\:v)1To~105 (m)
fs=0.7 4%{’# fs>1
GBR/GER Cw(KN) Kr
40 13.2 1.257
52 24.2 1.634
62 35.0 1.948
72 38.5 2.262
90 63.0 2.827

30

EH RO R iFiRR R

Size verification

The calculation must be done for the roller
under the highest load.The life time values
calculated are nominal.90% of all rollers
reach these values.The service life Lh (h)
hours can be calculated according to the
average speed of the roller.




=26

BERWAER , T IBREZIERE 1 10000km HIE
akFE , BEEEAER 30mm,

Calculation Example

Choice of the roller support,which under the
following conditions should achieve a life
rating of about 10000km,whereby the rail
thickness should not exceed 30mm.

1. FEEE A2 Determine knows
F,=16000 ( N )

F,=2000 (N)

F=1.1

Lin=10000 ( km)

f,>1

2. MERRENEL Determine unknowns
P=2(KN)
L=?(km)

3. MIEEE Select preliminary
=EmEE - 72 roller support:72
B, : KGT72201 guideway bar:KGT72201

4. BAE Catalogue values
D=72(mm)

C,=41.5(KN)

Cow=48(KN)

5. :tEiEE Calculation according
F1/ERT , &8 1 70 2 FrS& &, Load of rollers 1 and 2 because F1
(F2=0 /% , /=85 170 2 FT2 &%, ) ( Load of rollers 1 and 2 because F2=0)

PAm=16-(%- ('5105(?) )-(%_ ('1‘;%(3 )+%-1§00 +%-5—80 =11.52KN Py=11.52KN
sz=16-(%- (;10500) e ('1‘1)%(2 ) > ons * o gas “L2BKN  Py=128KN
Pac=16-(5- o0y (5 LA, 0. 0. 0. D —288N  Pa=288KN
sz=16-(%- (;10500) )‘(%- ('1%%(2 )- %'H?W' %-% =0.32KN  Pp;=0.32KN

31



FIE  BRETENASIEREN , Wk 1 BRES IR,

Please note:because all values are positive,roller 1 is always under load.

B F1=0 R, &8k 3 Fr2&#; Load of rollers 3 because F1=0
EF2{EBT , =t 3 Fri& & Load of rollers 3 because F2

1 900

PAS:C3=O.( 2 - 1000 ) (2) 1000

———=-1.8KN P;=1.8KN

1
Pg3p3=0 (=- 900

> 1000)(2) Toog = L8KN  Pu=L8KN

6. =8m Al SdpstE Life time calculation of roller A1
Pw=f:P,=1.1-11.52=12.67KN P,=12.67KN

10 10
L=kr( PW )°10° =2.262" (1267) -10° =11798742m  L=11800

Lnin=10000km <L=11800km

7. BERERRE T {REL Verify static loading factor
fs=07 G =07 767 =265 fs=2.65

Fs=2.65>fs;,=1

32



EHRENERRGRE
TE

RERASREAAR 2EE GER fRUERRE. (BO ) FRNAIRF  BEfEmskORE. ERARRFEERIER
GBR RFIASRFEROERT.

HFAREBRRRARF O EE —EEEE | ZUBRRREE LY INASS—H. FOEMESHEEIRREE
Y. BARECER. RORR , FOBEROCEZNSY  BOAZERE (BQ) .

Assembly

The backlash setting and the pre-tensioning of the rollers take place via the eccentric hub of the rollers of the series
GER (Fig. @ )By using an Allen key the eccentric of the roller can be turned and preloaded.The nuts are tightened by
using a torque wrench.The rollers of the series GBR are in concentric version.

The opening inside the roller for the greasing of the bearing has a defined position which is in line with the INA sign
on the face of the roller,This opening has to be opposite the roller face that is in contact with the guide rail-especially
in respect of the concentric rollers.On eccentric rollers the opening moves with the eccentric adjustment and cannot be
influenced(Fig. @ )

ALk

il

Fig. ®

33



[@]

©] @]

RERTRE AR

1 BEREROM@RZE. FFHERRO MO ©RIRE.
AR O BEEIR/IMIE.

2. EEIQOMORIm LR, AEEEIEZIRE,
3. T SR E BRE R

4. HEBIFERER | BERROEIIRREAMB
HIEEXER. By, SRUERT.,

5. BEETHH

6. AEGKRER : BRIRRE , ARESROHE , 15
$REER . Z = 0.10mm ( AREEFER -0.07mm) . B4
RECSER ERONE X WS,

7. B2 R UREEUERFES Z = 0.10mm,

8. METAR N | EEHATRRY/ARCRIEERDEE) , 1
SR sEEE) , RIFAFIRIRO , © , ©FBXHEE.

34

Adjustment of preload of rollers

1.Tighten the nuts of the rollers @ and @ .Loosen
the nuts of the rollers @, ® and ®, ® .Turn the
eccentric hubs to teh minimal position.

2.Turn the eccentrics of the rollers @ and &) .Then
tighten the nuts gently.

3.Position the dial gauge adjacent to the drive pinion.

4. Align the carriage and eliminate backlash:Adjust
rollers ® until the measurement X of the roller
supports A and B are identical.At the same time,the
tooth backlash must be zero.

5.Reset the dial gauge.

6.Adjust the backlash clearance:Loosen rollers (3
and subsequently turn the eccetric hubs so that the
dial gauge displays 2 Z =0.10mm(results in a backlash
clearance o f -0.07mm).The measurement X must be
equal again on both roller supports.

7.Tighten the eccentric rollers while the value 2 Z =
0.10mm is maintained.

8.check the pre-tensioning:Rollers that are not under
load must be able to turn using moderate force.If they
are not free,loosen rollers @ , ® , ® and adjust them
again.



40 BUimERS e (AfRISZEE )

40 BYiREmaE

Roller support (right hand version)

- A
:. :.. 35+0.05 4x@9
g N
[hd 2x8H7
(=] ;T\‘
m hd
N
11.5 97+0.05
A
120
0 97 11.5
7 ¢ 3x@9 3x@15%20
115 115 60:0.05
— — i - N
] ©- -9 H - O\ @
=+ O — ©) +
)| | ESN I BN
o s 1§ B o
+ g L = T )111 4 G)) H: H—
eI e A %i ””” e — NH Z‘q
,,,,,, bt & e ) ) & v
50 4x@9
2x@8H7 3x@15%x20
BlgR HEM Cam C/® G Nmax
Code @ ® ® (kg) (N) (N) (N) (min™)
KGB40.1R GBR GER GER 2.5 13800 7000 1800 5000
KGB40.2R GBR GER GBR 2.5 13800 7000 1800 5000
KGB40.3R GER GBR GER 2.5 13800 7000 1800 5000
CW?® : Normal service life 10°m  CW® : Normal service life 10m
Ll Stud roller
g fROE = IRFHEE R
y
Cioscjiﬁe Excenter Weight MA
g (mm) (kg) (Nm)
GBR40 1 - 0.25 87
GER40 2 1 0.25 87
S 20
SL Ls_ 9 A
x — AA
@30 @227
“}E 0
g 7] R B @ = }7—5 5
¢ 12O P
8 \_X _J
4| 12 || 19 L
0.8 36.5 2 §
58 F1 Fig.1 P2 Fig.2

35



Roller support (left hand version)

A

11.5 97+0.05

S ik
A
120
9
3x@15x20 3x@9 500,08 7
] 115
A - r:NIE
= S\'E [ U o al ()
4 TR o \)
4% / EB\M iiiiii \JF &
\ == "
HB- ! = I
R N - .
L /’O\ .. - ® i
H1\k o &
29
4x29 50
3x@15%x20 2x@8H7
BUEE @ ® HEM Com Cw® G2 Nmax
Code (kg) (N) (N) (N) (min™)
KGB40.1R GBR GER 2.5 13800 7000 1800 5000
KGB40.2R GBR GER 2.5 13800 7000 1800 5000
KGB40.3R GER GBR 2.5 13800 7000 1800 5000
CW?® : Normal service life 10°m CW® : Normal service life 10°m
[ifis Accessories
19
215
TM_B_T
Z (A N
_ " =
F. Mol | Weight
(kg)
@ C45 0.01
@ EE ®
® Q345B

36

47




40 guideway flat rail mounting dimensions

40 BREHLEE

48

15

24

45

95

40 BUEHREH 40 Guideway flat rail

HigE . 9 L b
Code Material Bolt size
KGT40101 1000 900 S45C M8x20 8.8 4k
1000
900

@)
\§

45+0.02
N}
>
A
&
@A
&
D
A4
A
&)
7))
&

%)) 29
9 s 25 | 25 100 25 | 25
15+0.02 0.5+¢7x45°

BlgR L 11 Ly 1R RISE
Code Material Bolt size
KGT40202 2000 1900 S45C M8x20 8.8 4k
2000
1900

o i
a f
o i
i i © © © ® Q@
@15 7 29 Q i
9 0.5+03x45° 25 .25 100 25_[ 25
15+0.02

37



40 BREH. SR SERTEE

40 guideway flat rail,rack,pinon mounting dimensions

80

130

[

(/L4

VLl

15

2910.02

29

29+0.05

B

38

[&

N

77277

0.5;03x45°

29 45 29
45 80
102.65 137.65
rack
B | | g | #® | &P | e AR g2 Ray
Code Module | (mm ) | Material | Precision grade Bolt size
KGS40129 | 1200 | 1100 | 3.1831 10.0 S45C DIN9 M8x35 8.8
KGS40209 | 2000 | 1900 [ 3.1831 10.0 S45C DIN9 M8x35 8.8
L
L1
f
@ © © i QO |2
175 AAAAAAAAAAAAAAAS Avl I,\vl\vl\vl\vl\vl\vl\vl\vl\vl\vl\vl\ AAAAA
25 25 100 25_| 25
Drive pinion
ik sy | EE | i FEESAR el
Code z Module P Fig. Precison grade Kg
SGLP40-CP10| 20 3.1831 10.0 1 DIN6 1.95
SGSP40-CP10( 20 3.1831 10.0 2 DIN6 0.9
162 43
2795)77 132.5 295 .
e} (50 ©
qEe 8 ——18 28§C L s
8§ S SIS B15H7
T 128 ’
[£1 Fig.1 [£l2 Fig.2




52 BYimEm4A

52 BRI RE ( AfAIZEE ) Roller support (right hand version)
A
38.5+0.05 ax311
TH]
12.5] *LTYTJ 2x@8HT
o A
m hdt
12.5 125+0.05
A
150
125 12.5
R ;: ¢ 3x@11 3x@18x25
12,5 12,5 152005 _|
| — —r— — — + * h
BT oS- 16 5 ——— ==
O] © 7 s e PN
= TR B A
{ i | i TN \
8g o L ij ] g I !
oo 4 / g} i o) /@;\ i
Rl PR A _\Q D T RS EE S g
B e A N4 (0= e H G k,/ &:‘q »
56 4x311
2x@8H7 3x@18x25
BlER HEEM Cam GC/® G Nmax
Code @ ® ® (kg) (N) (N) (N) (min™)
KGB52.1R GBR GER GER 4 28000 14000 3500 3800
KGB52.2R GBR GER GBR 4 28000 14000 3500 3800
KGB52.3R GER GBR GER 4 28000 14000 3500 3800
CW?® : Normal service life 10°m  CW® : Normal service life 10m
e it Stud roller
FgE fROE = IRRHEENER
CIo d’; Fi Excenter Weight MA
g (mm) (kg) (Nm)
GBR52 1 - 0.47 120
GER52 2 1 0.47 120

o
S 24
S 9 10
14 A-A
@247

e E & ERZ
48 W =
2 X 0
18 | 21
0.8 40.5 30
66
€1 Fig.1 [£2 Fig.2

39



Roller support (left hand version)

A
12.5 1250.05
. Llr IrJ @ /\wl:,}i
“ ?:ﬂj} GZ‘A\%\ 2x@8H7
g LA AN
i Y &.M
12.5] i
A
150
3x18x25 311 12.5 125
75+0.05
,@
@ / O i - O
s\ i il L. g
4 & e Bl + -
L TN i |
! R ! : -2 B 5
U . > H
T TTON { i
= EII 1::1 K\D/%F 1:1\ 11v 4"; % H:& ,,,,,,
LU ~ = & © ST
211
4x@11 56
3xP18x25 2x@8HT7
HigE HEM G Cw® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB52.1L GBR GER GER 4 28000 14000 3500 3800
KGB52.2L GBR GER GBR 4 28000 14000 3500 3800
KGB52.3L GER GBR GER 4 28000 14000 3500 3800
CW® : Normal service life 10°m CW® : Normal service life 10°m
BiofE Accessories
24
‘ e o8
1 Ll %
1
_ N =
F Mol | Weight
: (kg)
1 C45 0.01
2 EE ®
3 Q345B

40




52 BB A

52 BEHREEH

70¢0.02

|

\

AN

11

20+0.02

52 guideway flat rail mounting dimensions

%ﬁ 8
45
70
126
52 Guideway flat rail
AL L L1 2%t 124eRIEE
Code Material Bolt size
KGT52201 2000 1900 S45C M10x25 8.8 4k
2000
1900
|
l
QO Q@O QO
10 S ’I &,
N |
|
+0.3 o
0.5, "x45 25_| 25 100 25_|.25
BUER L L1 p IZFETIER
Code Material Bolt size
KGT52202 2000 1900 S45C M10x25 8.8 4%
2000
1900
i
I
I
D 7 A o) A A
T © | OXES
“ i
Ll
0.5+33x45° 25 | 25 100 25_| 25

——
2
®
0518 / 211
1
20+0.02

41



52 BUiEE. BN, SiRkE

52 guideway flat rail,rack,pinon mounting dimensions

T
— 1 ; —
57.5 ' ‘ _|_r s
i | — | ' | — |
I . I | H
pw 1444 777
- 45 - - —
45_|_39 45 39
80 70 80
136 134.07 144.07
Bl rack
meg || g | B | EEP | ME SR RS
Code Module [ (mm ) [ Material | Precision grade Bolt size
KGS52129 | 1200 | 1100 | 3.9789 12.5 S45C DIN9 M10x40 8.8 4k
KGS52209 | 2000 | 1900 | 3.9789 12.5 S45C DIN9 M10x40 8.8 £k
L
L1
— /L
W= ©© ®/® 0O |
[=) i [t}
+1 1 [Ye]
%g_o //// % N \AAAA‘NV\MMANW//AAAAI\AAI\AAA N N “
AV AR v AL 'E "] /llvvvvvvvvvvv WO
\ 0.5¢03x45°
11 25 25 100 25 25
39+0.05
(L0 Drive pinion
ik Ey | Em | 6 REEAR e
Code z Module P Fig. Precison grade K(g
SGLP52-CP10| 14 3.9789 125 1 DING 5.0
-
{ ﬂ'ﬁ - SGSP52-CP10| 20 3.9789 125 2 DING 1.8
"I“l 196 60
fo, - 156 40 .
S 8 g £ 3 2 2
© S —--—--f— - - - — - — = — ~ o +— - —1
S b S SRS O30H7 ©
— .18 !
1 Fig.1 42 Fig.2

42



62 BliRimtE

62 BUTERSIRE ( AfRISZEE ) Roller support (right hand version)
A
4xM12
N N
O K
0|
o 70005 =
s 8 25| &
8 Ok
O|2xe10H7/1& N
l:g o]
80 20
120
"
91 120
80 2
i T = (ST
1 o 2x@10H7 | A | iR iy
L 2 N4 oY 3 lleans il 70
lms: A ontles] |8 S 718 INA\SS7 1
I S 70005 [|HH g © — 1 = ’ ¢ ®
& f ©
I y PR ECiFag R - Ir /f N
! | d I\ o S AN
\ \S% § !ﬁ;ﬁ/ =\
28
R1000
il BEEM Cary C® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min™)
KGB62.1R GBR GER GER 7 39500 21400 5400 2200
KGB62.2R GBR GER GBR 7 39500 21400 5400 2200
KGB62.3R GER GBR GER 7 39500 21400 5400 2200
CW?® : Normal service life 10°m CW®@ : Normal service life 10®m
IR R Stud roller
= ROE £ IRRHES R
18,
(%Efe g Excenter Weight MA
' (mm ) (kg) (Nm)
GBR62 1 -- 0.82 220
GER62 2 1 0.82 220

(=]
S 28
S 11 12 A
24 A-A
@28f7

wf
g ] % ]
Q — || - g K i .
14 \_X_) \_X_)
2 || 25
1.3 495 I~ A
80
€1 Fig.1 [#2 Fig.2

43



% P

Roller support (left hand version)

4xM12 A
e A
5= O
8 7040.05 qa
S N .
< 1 25_ @ e
W O 3
N ©[\2x210H7 | &
0 0
20 80
120
|~
120 91
20 80
! i . - =T
+ Iﬁ t + I| g ~ r 1 + + 1:
T 41 | )} 2x210H7 © ° Fj
/ (‘Q T ! 2 \<_‘.. g @ R :
I \0 ! [ S g Y ~ | w b — |
3 ¢ < < R o gl FHllr000s = I
e I o o ] [
I IS R |
/;-‘ \ _1|____ = o N :
o) | 1] O -
28 R1000
BugE HEM Cam C® Cu® Nmax
Code @ ® ® (kg) (N) (N) (N) (min™)
KGB62.1L GBR GER GER 7 39500 21400 5400 2200
KGB62.2L GBR GER GBR 7 39500 21400 5400 2200
KGB62.3L GER GBR GER 7 39500 21400 5400 2200
CW® : Normal service life 10°m CW® : Normal service life 10°m
(il Accessories
15
Ciosc,iﬁe Weight
(kg)
KAG62R 03 %
KA62L 0.3
27

44



62 ARSI ZAE

62 BEHREH

70+0.02

NN

211

0.5;03x45°

20+0.02

N

!_,"_I
1%
N i
/
2L 7
(<) 4 [__
218
20+0.02

0.5+33x45°

62 guideway flat rail mounting dimensions

161

T
80
|
20|
70

62 Guideway flat rail

g ] 9 e g
Code Material Bolt size
KGT62081 800 700 S45C M10x25 8.8 &4}
KGT62121 1200 1100 S45C M10x25 8.8 4%
KGT62201 2000 1900 S45C M10x25 8.8 4%
L
L1
!
!
/f
@_ = \WINZa\ i @
o N @? @ 1 &
N l /’
il
25 25 100 25 25
R . 9 wEL g g
Code Material Bolt size
KGT62082 800 700 S45C M10x25 8.8 4%
KGT62122 1200 1100 S45C M10x25 8.8 &%
KGT62202 2000 1900 S45C M10x25 8.8 4%
L
L1
]
I
I
B B N [©) N (A
O« o/ ©Q
N [
I
T
25 25 100 25 25

45




62 S, tai%. SihkkE

62 guideway flat rail,rack,pinon mounting dimensions

e [
ps—— e ! s
Al S 80 LT
ﬁ ol ! E::: !J ﬁ_‘ [
i E::flj‘ f [ : g IJ t l i E::: Jﬁ i 0 |
! A j L] 20 [ !
] ‘ 1 t i b Y ' ' ]
| b ' Ho ] * [ — S
ﬁ\ + 39| | ! ﬂ’\ ‘
L L
45
70 _| 39 0 80 _[39
144.81 171 154.81
iR rack
R L L1 2 #58E P 2% BEER IZHR TSR
Code Module [ (mm ) [ Material | Precision grade Bolt size
KGS62129 | 1200 | 1100 | 3.9789 125 S45C DIN9 M10x45 8.8 4k
KGS62209 | 2000 | 1900 | 3.9789 125 S45C DIN9 M10x45 8.8 4
L
L1
— /L
T T oY) ©6 00
=] il [t}
+ 1 [Xe)
&| 2181 77 N \AAAANV\MMAN‘AT//AAAAAAAAAAA L\ AL
AT AAY AL " A" 4 /llvvvvvvvvvvv \"A"A A"
\ 0.5;0-3x45°
11 25 25 100 25 25
39+0.05
(5L Drive pinion
IR e 1 [zl TBEEEAR WeiEht
Code z Module P Fig. | Precison grade Kg
SGLP62-CP10| 20 3.9789 125 1 DIN6 6.0
i SGSP62-CP10| 20 | 3.9789 | 125 2 DING 18
239 60
40 199 40
&S| o © <t ool
R N I N - N A R [ —— E—
§ s ° S § § g
|20 !
F1 Fig.1 B2 Fig.2

46



72 BiRimtE

11 Fig.1

[#2 Fig.2

72 BiRERs PR (AfRISZEE ) Roller support (right hand version)
A
4xM12
O ©
2x@10H7
4 b
o i Y g
o 5 AN B
S G
& o o
o © N =
Ny
15 100:0.05
Ay
130 90
15 100:0.05
% L L L Il Il
7 <)
o N [2x@10H7 8 g
S \< (?j SEPe) S = P o g D L:Ri;l
© \‘\ . 3’! o
g 4xM12
J = 0 @ 3 ®
TN 5 1
- (&) o2 o | lAN A
)
7 )
28 ~ R1000 X
HigE =EM G C® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB72.1R GBR GER GER 9 46500 24600 6200 2200
KGB72.2R GBR GER GBR 9 46500 24600 6200 2200
KGB72.3R GER GBR GER 9 46500 24600 6200 2200
CW? : Normal service life 10°m CW@ : Normal service life 10°m
IR, Stud roller
_ fRiE = IERHESNIR
g = !
éiof"é F Excenter Weight MA
' (mm) (kg) (Nm)
GBR72 1 -- 1.05 220
GER72 2 1 1.05 220
S 28
DSC 11 12 o
‘—‘ @287
X =
N -3 ‘ _ (¥
S - [
s
l& LA
2 || 2
13 495
80

47



: 'ﬁlmni

72 Bimna T R ( AofRISZEE ) RoIIer support (left hand version)
A
0 ¥ Vo
S 4xM12 v
|20}
x@10H7 ol S
S © J D=l @ :c\}
gﬁ\ . |-
& — |\ ——
Ll e Y Fen Y
\J </ o
N
15 100#0.05
#A
130 90
15 100+0.05
g L L L L L
{ 0| I B 1 o o
| i O CHD ols I H
L 2
ol ”() = g . 1 n 2x@10H7 . 8 S H
A Nl W
P IRANSS 218 94 |0 o He
> N ? 4xM12
J A O oy o °
A4 A" ™|
TN 5 i
N e . | LN .
(&) : )
N /) =
28 = R1000 E
HigE HEM G Cy® C® Nmax
Code @ @ ® (k) (N) (N) (N) (min)
KGB72.1L GBR GER GER 9 46500 24600 6200 2200
KGB72.2L GBR GER GBR 9 46500 24600 6200 2200
KGB72.3L GER GBR GER 9 46500 24600 6200 2200
CW® : Normal service life 10°m CW® : Normal service life 10°m
(il Accessories
g =
ngfi Weight
i fa
KA72R 0.3
KA72L 0.3 27

48




72 Guideway flat rail

ull . 9 L g
Code Material Bolt size
KGT72081 800 700 S45C M12x35 8.8 4%
KGT72121 1200 1100 S45C M12x35 8.8 4%
KGT72201 2000 1900 S45C M12x35 8.8 &%
L
L1
7o) 1f
1ZI i
g_ i i ”
o "
g 17 © > | @
i ons 4 [ 99 o ©©
! 1 0.5+3%x45° | 25 | 25 100 25_| 25
3040.02
il ) 1 ) IR
Code Material Bolt size
KGT72082 800 700 S45C M12x35 8.8 &%
KGT72122 1200 1100 S45C M12x35 8.8 &%
KGT72202 2000 1900 S45C M12x35 8.8 &%
L
L1
s /L
i I
w I
3 ’Z I
£ If
8 T OO © OO
B Jiar)) N7\ /A \Var\
I TO0O ©! QO
@20) 213.5 & I
’OSX o 1
13 L 0% % 25_| 25 100 25| 25
3010.02

49



72 BpEH. tE% SRREE

115.81

i

LIRSS

50

72 guideway flat rail,rack,pinon mounting dimensions

155.81 155.81

 — : - -

il | H=e iR i o

L o ‘ L_ﬂj““ : o

\ ; ! | o —

T E gy T |
T ipn ' 5w
~ -

85 I 75
120 %20
210 210
Guideway flat rail rack
RgE L | mE | EEP | mM | mESE igfeReg
Code Module | (mm) | Material |Precision grade Bolt size
KGK720819 | 800 | 700 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
KGK721219| 1200 | 1100 | 3.9789 12.5 S45C DIN9 M12x35 8.8 2%
KGK722019 | 2000 | 1900 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
L
L1
iz 1/
& | I
; ¢ 7an\V/an\ { / D) %
S A i MDA |~
® 1 /A D/ N //@ GHY
@ ®135 g At N AA A A NANAAN '\/'Y’/’I'\ A AAANANA AN A
IR A e VA g g w B A A T v A A A T A A A AV A A A A A AR AR A A v
0 s 25|25 100 25|25
30+0.02
B L L1 HREL #aiE P p s TEEER IR RIEE
Code Module | (mm ) | Material |Precision grade Bolt size
KGK720829 800 | 700 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
KGK721229 | 1200 | 1100 [ 3.9789 12.5 S45C DIN9 M12x35 8.8 2%
KGK722029 | 2000 | 1900 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
L
L1
o 1 {}
: i
‘ I
o Il
S é I S
& Vzan\W/an\ 1zaa) AA | 2
S ore T OY © ! VY -
T N N D) (@ \V/a
S il 4T QO @ QO
& 0.5:9%x45° o \\JI\\J \.If\\J UI\\.I/\\J/-\\JA\J/-\\J/-\\J/\\J .\\JIT (rlf\\J/\\Jf\\Jr\\Jr\Uf\\Jr\\Jr\\Jn\J \Jr\\J .\\Jr\\J
13 30:0.02 25| 25 100 25 | 25




iR rack

mg | | g | mm |EmmP | ome | mEse g2
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS72129 | 1200 | 1100 | 3.9789 125 S45C DIN9 M10x45 8.8 2%
KGS72209 | 2000 | 1900 | 3.9789 125 S45C DIN9 M10x45 8.8 2%
L
L1
7. it
2 QO QO QO |
+ 1 [Te) 1 Yol
%Q_D //// % N \I\I\I\I\‘NV\MMAN‘%/!I\I\I\I\I\I\I\I\I\I\I\ N N ©
AV AR v AL 'E "] /llvvvvvvvvvvv WO
\ 0.5;0-3x45°
11 25 25 100 25 25
39+0.05
b Drive pinion
BugE sy | R #5IE BESE Weight
= Code YA Module P Fig. Precison grade Kg
N - SGLP72-CP10 20 3.9789 125 1 DIN6 6.0
gy SGSP72-CP10| 20 | 39789 | 125 | 2 DING 18
239 60
40 199 40 :
3 8 . g 33 "
N o B B | —— -1 N o +— - —1
o N Q Ny o ~ Q
8 8 ® 8 9 B30H7
S !
126,
1 Fig.1 F2 Fig.2

51



90 BliREmiH

90 BT RE ( AfRIsZEE ) Roller support (right hand version)
A
= Po Ll
Y| 2xo1207 17T
- o
gl 8
g - L i
=
S 5] ¢
27.5| 13010.05 17.5
§a
107 185
130:0.05 17.5
L 1 L 1 1 !
I T J [ i\ o 1 |
sl |7 oz 7 |ezs B
q g =R Jax 9 ﬁ\ N
d - D Q| g § 8 === Q) [ g
ag N ﬁf@ . i = B
4xM16 )
v J e 6 [ g |
18] .
[ fa 1 = ’V:H ﬁ\ \
- @ &)
QA
7 R1000 ~ 5
BlER =EM Co Cy® Cy® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB90.1R GBR GER GER 15 82000 43100 10800 1800
KGB90.2R GBR GER GBR 15 82000 43100 10800 1800
KGB90.3R GER GBR GER 15 82000 43100 10800 1800
CW? : Normal service life 10°m CW?@ : Normal service life 10°m
IR BTG Stud roller
= fRE = IZRHEEEE
g = .
gg"i Fg Excenter Weight MA
' (mm) (kg) (Nm)
GBR90 1 -- 2.02 450
GER90 2 1 2.02 450
8 35
= ) 14.5 15
x AA
‘ @357
o e B = S IERFAN
== = KJ
14 ‘ \ X /
20 || 30
1 63 6
100
<1 Fig.1 <12 Fig.2

52



90 BURERSCEE ( ZCfRISIRE )

A

175 130¢0.05
4xM16
I N O
YS2x312H7 N d
© |
J QR
2 S o
R N4 ©
27.5]
A1i5 107
17.5 130+0.05
+ L L L Il Il
i e P ; e o ols L_fe (Iil e
(75 . N e
g I SEbe! 8¢ s + % =
© \\ J | — @ - BD b&:l)
2 4xM16
J N3 I O D = °
< < S
L
- 18
4 O\ 3 | C’“ \ J
S
\/) L )
a5 ~ R1000
BugE HEM Caw Cy® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min™)
KGB90.1R GBR GER GER 15 82000 43100 10800 1800
KGB90.2R GBR GER GBR 15 82000 43100 10800 1800
KGB90.3R GER GBR GER 15 82000 43100 10800 1800
CW® : Normal service life 10°m CW® : Normal service life 10°m
Ecit Accessories
T =
C%Sfe Weight
i B
KA90R 04
KA90L 0.4 27

53




90 BV REH

54

90 Guideway flat rail

HugE L L1 Tt HRE TSR
Code Material Bolt size
KGT90081 800 700 S45C M12x45 8.8 4%
KGT90121 1200 1100 S45C M12x45 8.8 &%
KGT90201 2000 1900 S45C M12x45 8.8 4%
L
L1
71 i
1Z) i
g 1z if
(=] i
& . A IR D @
ot e 4 [9O © 0o
0.5+3%x45° &
|| 13 25| 25 100 25| 25
40+0.02
o p 12reRISE
y
B8R Code L L1 Material Bolt size
KGT90082 800 700 S45C M12x45 8.8 4%
KGT90122 1200 1100 S45C M12x45 8.8 4%
KGT90202 2000 1900 S45C M12x45 8.8 4%
L
L1
— I
I
| i
3 é I
5 Vo \Yas W A
: 1188 88 89
“‘ ad\V/ar NIN@ @ \V/an\
%Gt 5135 o \#E} 63” A\
403, 4o "
13 0% x5 25| 25 100 25 | 25
40+0.02




90 RS, tai%. BiRREE

90 guideway flat rail,rack,pinon mounting dimensions

125.84 165.84
(S ) (N1
=) ; i ||
= : A= B
a Ay Il #5)
LT Wa
. ,_ —< 7_ 4
AO_J 80 ||
80 120
187 227
PEE S Guideway flat rail rack
g Ul | mm |mmER | me | mEsm R
Code Module | (mm) | Material |Precision grade Bolt size
KGK900819 | 800 | 700 | 5.0930 16.0 S45C DIN9 M12x45 8.8 2%
KGK901219 | 1200 | 1100 | 5.0930 16.0 S45C DIN9 M12x45 8.8 2%
KGK902019 | 2000 | 1900 | 5.0930 16.0 S45C DIN9 M12x45 8.8 2%
L
L1
2 i
j ;/,/
N i 1 3
g ] R
& J ii
a4 L OO © O QO
2135 NL,\_/"U’\/‘U \ALAAAAY \f}/ L, aWaWaWaWa W aWaWaWa W WalW. WaWi
\ 0.550%x45°
[13 | 25 25 100 25 25
40+0.02
BUER L L1 BB i Tt FEEEAR 2RSS
Code Module | ( mm ) | Material |Precision grade Bolt size
KGK900829 ( 800 | 700 | 5.0930 16.0 S45C DIN9 M12x45 8.8 2%
KGK901229 | 1200 | 1100 | 5.0930 16.0 S45C DIN9 M12x45 8.8 2%
KGK902029 | 2000 | 1900 | 5.0930 16.0 S45C DIN9 M12x45 8.8 %
L
L1
sl {I
i | i
i * I
o Z I -
S I 3
g AN ) ij A \V7as\ =
- R Y'Y €> i @ WY\
P 00 @ © OV
R 25 | 25 100 25 | 25

55




[

49+0.02

320

13.5

56

13

49+0.05

Rack

mg | | g | mm |EmmP | ome | mEse g2
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS90129 | 1200 | 1100 5.093 16.0 S45C DIN9 M12x45 8.8 2%
KGS90209 | 2000 | 1900 5.093 16.0 S45C DIN9 M12x45 8.8 %
L
L1

25

/L
If
]
I/@

@ 5
Q@ ———¢ —-—§ :
Iy
A\ AS C P/' - AS
25 25 100 25 | 25
Drive pinion
ik sy | EE | i SR el
Code z Module P Fig. Precison grade Kg
SGLP90-CP10| 20 5.0930 16.0 1 DIN6 9
SGSP90-CP10| 20 5.0930 16.0 2 DIN6 25
302 90
50 252 50
g 3777777 7777&77777777 8 é g 77777:}4Ul’|l s
T Lo |
€1 Fig.1 €2 Fig.2



THERG

57



LUBRICATION
SYYSTEM

58

HERA



Eotin & TR

Felt pinion&Mounting axle

BN 77
S o ST o / °%
[ g
] ~ ]
b1 b1 b1
B
&
0 (DE@ o b
b1
I L
C%J)gfe m%dsgle @Z%l BWOEE 5?thEJi§§ OSI’E jéia. Vﬁﬂ?h Moufﬁigmaxle e DesﬁcﬁriEEtion
di d dk bl D L I G 5 R
MSG152620 | 1.5 26 12 39 42 20 * * * * 1 Bt
MHR152520 | 1.5 25 12 39.7 42.7 20 * * * * 2 REEGHE
MHL152520 15 25 12 39.7 427 20 * * * * 3 RHEZChE
M151245 1.5 * 12 * * 20 30 | 45 | 10 | M8 4 LR
MSG021925 2 19 12 38 42 25 * * * * 1 =1
MSR021825 2 18 12 382 42 25 * * * * 2 SEANE
MHL021825 2 18 12 382 42 25 * * * * 3 fE7ohE
M021250 2 * 12 * * 25 30 | 50 | 10 | M8 4 LHEEN
MSG031930 3 19 12 57 63 30 * * * * 1 B
MHR031830 3 18 12 57.3 63 30 * * * * 2 NEEahE
MHL031830 3 18 12 57.3 63 30 * * * * 3 ESChE
M031255 3 * 12 * * 30 30 | 55 | 10 | M8 4 LHEHN
MSG041940 4 19 12 76 84 40 * * * * 1 Bt
MHR041840 4 18 12 76.5 84 40 * * * * 2 SESAE
MHL041840 4 18 12 76.5 84 40 * * * * 3 FesZche
M041265 4 * 12 * * 40 30 | 65 | 10 | M8 4 T

59




9BitES Distributor

ARU-R 8 1 EX(ERROER , HARIHAERERR

Bl RS HE L Y

PEcaase—EBITIELIE , I5TEsEaE , BR—IX,

Division of point
DEFLEES

4R:4 point

6R:6 point

8R:8 point

10R:10 point

12R:12 point

Limit switch(Option)
PRAZBIRE (2 )

ARU-4R-M

M : Built-in
No mark:none

EOBEREBREE.

B LR EREN S OSBRSS B EELETE,
AR ZREBRIRE HREEREEL.

fEFRIRE -20°C -70°C

ARU-R-M BUSIR(FERESECRE , PEIBMRAFRRIE T(E

AgE ntHFLES = KBS = IEV) FEE XEE P HE
Codme Discharge |Discharge volume| Min.pressure |Max.pressure| Central pipe | Branch pipe NL"GI rltlo Net weight
point cc/min Mpa Mpa PF PF ’ kg
ARU-4R 4 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-6R 6 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-8R 8 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-10R 10 03 15 15 1/8" 1/8" #000-#1 0.72
ARU-12R 12 0.3 15 15 1/8" 1/8" #000-#1 0.72
HHAN3EE Assistant metal fittings
Sy,
; | L ey
' ol
. | | 7 ! i
i - Y hi IS <
- B
! = i ' I‘ | !
AU-26 [ ) r

ARU-R

60

BORMAIERES  MRARER—ELHOMER , HARHOAEE |, WEEEREES | LSt HES



BEIEERSHBIEMES Lubricator

TEEE—T s

- '_f— .
BE 250CC S

| Enas
-jme

"
miz
i
—— iR
HECEPT3/8 o
YEL
éM %%%E%ﬁi&ﬁ%iiﬁﬂﬂ%ﬁ , BRELCD 3% , IR - fUREH. MEFERAH. BFIE. BEEH. HEAESE ., NG
SRIFEFo
2 SHEEEETHRCS—ERERE. BE. GHE  (HERIESEIE 20-60kg/cm’, EB—RREERETHSSER 5-10kg/cm BY

AR, THBCERER iR,

3/ EMEHER  H (058 ). 1. 2. 3. 6 R 12{ARLIHERE,

4 : FEEAEURERES. (THBER—FER  ERERINR  ERRERRESE

5: B, THERMRET  (ERRESE -15°CE 60°C , JEARREAEE. AHEALEBZIBHHERE,
6 : RIS ERNEEEEH  EMESINH. BEE. BE. SERERASHERH.
EEFEREEThEEREE

1: BARNERARERRERGHRERSE. TiHREEZRE.

2 BRZEEREEZ  GEETER. TR0, |k KABUBE. B EER. SHRER. BRES.
3 —REEAZERGE  ME. K. REX. AIE. R ERE BFE fnfNE

IE(HERSEER
1: =BEBEHNEBTmRAEEG CV REERoLs:  EESHEECAN  RATES 8 B,

2 E-EROESASXEE(EEERLEEH , BEREREE—EEERERIEE_EEE  RKFFETE  R—EHEE
BRES S EEBMKEEEHRALEES  BETHARNSER | MEY BRI E RSN,

31 QV B FeRs il e SEREIE A 15kg/cm’ SB TIEEEITA 150kgf/cm?,

HIgE Code HERE BR BEEN BARHE BERE SHRTRFLRE
PM-2%0 220cc Dcasv(ar@Em) | 20kgf/cm 60kgf/cm -15°C -60°C NLGI1-2 &%
: -~ (280psi) (850psi) ¢
PM-500 500cc
BUZE Code fHnEHEE fmiEER = AR HiRO& HE
PM-250
05. 1. 2. 3. 6. . 810g( )
S iy / EH o d
V500 12 @8 #320 %> / 1BEA 0.34cc/stroke +3% PT3/8 10509( 2. )

61






EERZEHHAIRA A
KAI HE MACHINERY CO,,LTD

hl : ESETBIEEETS 36 5 21 38
No.21,Ln.36,Fuxin Rd.,Wufeng District, Taizhong, Taiwan
Tel:+886-4-23395817

Fax:+886-4-23392308

Http://www.kh-rack.com

Email:sales@kh-rack.com



	V型導軌傳動系統模块系统
	V型导轨齿条传动系统精度
	V軌系統負載能力和使用壽命
	V型導軌傳動系統驅動力和力矩
	V型導軌傳動系統選型確認
	V型導軌傳動系統安裝
	V型導軌傳動系統滾輪預載調整
	15型
	20型
	25型
	35型
	偏心法蘭
	重載扁導軌齒條系統模块系统
	重載扁導軌齒條系統規格選擇
	重載扁導軌齒條驅動力選擇
	重載扁導軌齒條系統選型確認
	重載扁導軌齒條系統安裝
	40型滾輪組
	52型滾輪組
	62型滾輪組
	72型滾輪組
	90型滾輪組
	潤滑系統

